Energy Problems I
1.) If a rock that had a mass-producing a force due to gravity of 50 Kg and a height of 15 m, what is its potential energy?

2.) If a car was traveling 2.25 m/s with a mass of 1500 kg, what is its kinetic energy?

3.) If a diver had 456 j of potential energy, a height of 15 m, what is his mass?

4.) If a football had 1200 j of kinetic energy and a mass .525 kg, what is its velocity?

5.) If a person standing at the top of a hill had a mass of 89,000 g at a height of 2.5 m, what is his potential energy?

6.) If a bullet produced 3,600 j of kinetic energy had a velocity of 150 m/s, what is its mass?

7.) If a person with a mass of 75,000 g was running 2.5 m/s, what is her kinetic energy?

